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328
330
332
334
336
338
340
342 21:32    expT = 47 s   Kp=nan    moon=1.00
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348
350
352
354
356
358
360
362 21:47    expT = 92 s   Kp=nan    moon=1.00

0 100 200 300 400 500
374376378380382384386388390392 22:03    expT = 143 s   Kp=nan    moon=1.00
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405
410
415
420
425
430 22:23    expT = 187 s   Kp=nan    moon=1.00

0 100 200 300 400 500
415
420
425
430
435
440 22:45    expT = 187 s   Kp=nan    moon=1.00
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450
455
460
465
470
475
480 23:09    expT = 217 s   Kp=nan    moon=1.00
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500
505
510
515
520
525
530
535 23:35    expT = 283 s   Kp=nan    moon=1.00

0 100 200 300 400 500
460
465
470
475
480
485
490 00:04    expT = 224 s   Kp=nan    moon=1.00

0 100 200 300 400 500
435
440
445
450
455
460 00:30    expT = 193 s   Kp=nan    moon=1.00

0 100 200 300 400 500
450
455
460
465
470
475
480 00:55    expT = 223 s   Kp=nan    moon=1.00
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470
475
480
485
490
495
500 01:19    expT = 251 s   Kp=nan    moon=1.00

0 100 200 300 400 500
420
425
430
435
440
445 01:44    expT = 187 s   Kp=nan    moon=1.00

0 100 200 300 400 500
425
430
435
440
445
450
455 02:05    expT = 203 s   Kp=nan    moon=1.00

0 100 200 300 400 500
420
425
430
435
440
445
450 02:26    expT = 204 s   Kp=nan    moon=1.00

0 100 200 300 400 500
430
435
440
445
450
455 02:48    expT = 225 s   Kp=nan    moon=1.00

0 100 200 300 400 500
410
415
420
425
430
435 03:14    expT = 227 s   Kp=nan    moon=1.00

0 100 200 300 400 500
364366368370372374376378380382 03:44    expT = 158 s   Kp=nan    moon=1.00

0 100 200 300 400 500
358
360
362
364
366
368
370
372
374 04:08    expT = 174 s   Kp=nan    moon=1.00

0 100 200 300 400 500
358360362364366368370372374376 04:35    expT = 222 s   Kp=nan    moon=1.00


